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2 udflwev / BIOLOGY

{ 380 b apiidla andl ( Tamil & English Version |

Fre yarey : 3.00 wafl GEy | _ | Quorgg wHLEUEnsET : 70
Time Allowed : 3.00 Hours | - (Maximum Marks : 70

SiflayenTaseT 1 (1) emadg alanssanb siurs Lflaund) e erensT eTaTLSaman sElUTTEHE
Candreneyb. sfstndale @aonudmuldar oimns samsranliLureTf(h
e _emyiTas Gsflefssa)n,
2) B soam smuy oofoa  olEEL  a@HASHED
g sGareDausher Lwau@ss Caan(in. ULREE aumrasneE
Guadlsd LwsuREgeL.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisur immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams. '

@iy : ugdl-1 (o uifl-graraiud), u@-II (2 Qi -alaidlub) sefldzal eflam_sgrefle
sfenwafldaayib.

Note :  Candidate should answer Part-I (Bio-Betany) & Part-II (Bie-Zaology) in scparate
answer-books.

u@gd - I (edifl-grsureilwsd) / PART - 1 (BIO-BOTANY)
(wdlQustoaear ¢ 35) / (Marks : 35)

dfley - 1/SECTION - 1

@iy = (i)  Simenss silemssenssn alml eflssey b, 8x1=8
fii) GEr@ssin’ Gerer wrhn i@l sefld Wseyh ghU@LL ehla g
CaipCe@hss GBS B alle Qmanyd Goise eupsay.
Note : (i)  Answer all the questions.

{iij Choose the mast appropriate answer. from the given four alternatives
and write the option cede and the corresponding answer.
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DNA - 11Gan Sl I SCRT T
(«2) GAATTC (v81,) AGGOTT (@) TATAGC () GTATATC
EcoRl cleaves DNA al -

(A)  GAATTC (b)  AGGGTT {¢) TATAGC (d) GTATATC

[ | 3 . T . . " "
Qun f‘,_g&\ﬂé & (Pedogrnesis) GTQRILG 6T EHEIL6T fag.m_:qé:ml_u.lg)] ?

(=) eudfg Aerans (<) Glgmiayuifl Ligeud
(@) weaw () B
Pedogenesis refers to :
(&) Population (b) Fossils
(e} Soil (d} Water
AL&ECLrarr yramgs eranug GRbusser sraiTb.
(=) gl=CrrariCuél (=) CanCuél
(®) a9GaA (%) CLGUS
Tectona grandis is coming under the family :
(a] Dipterocaipaceae (b) Lamiaceae
(c) Ebenaceac (d) Fabaccac

snpaar 2fsslupse srariuBeug) :

() @emhsailes eueT(HD STEUTEAGET HDID DY T

(<) sTHsTHY LEHselle) cuenmib STaUTbseT HMID LImESST

(@) sreurdiEeT LHMID LIRS psuaben SIsHHFD

() ar@adr ifps ugdselld auanmb Sraughser WHHLW WIksET
Deforestation means !

(a) growing plants and trees in a pond.

(b) growing plants and trees in an arca where there is no forest.

(c) removal of plants and trees.

(d) growing plants and trecs in an area where the forest is removed.



5.

3
EERD LEIen® o Ganflapugpeapuide Lwenu®Hsa0uEEng ?
(2} LiralloGren o ik A gEH e enan
(<3t spian @by Qamflam ugpam
(@) =sGrmev @upin Wanarmh 1ALy
(M) Weaidvfér @bfl@w@ing Asrdamt uwenp
In which techniques Ethidium Bromide is used ?
(a) Polvmerised Chain Reaction
{b) Southern Blotting Techniques
[c) Agarose Gel Electrophoresis

(d) Western Blotting Techniques

apRailengs sreurmisaie par CaUlLLES sreursslan (psa CFd :
(1) =L am () mein efigg)

(&) waoplea smapmids () Qupedlbay

The first cell of male gametophyte in angiosperm is :

{a)] MNucleus (b) Microspore

(¢) Primary Endosperm Nucleus (d) Megaspore

@riggaand apssedlan cldlgnrang)
(=2)9:3:4 (=)9:3:3:1 (@) 9:6:1 (F) 12:3:1
The Dominant Epistasis ratio is :

(a) 9:3:4 by 9:3:3:1 (c) 9:6:1 (d) 12:3:1

5927
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B.  @Gr rsg sreurtserasdaGu soly Qeleug €6 sienpss LB Arg
(=) @Gy rasHbeer saliy (<) A Plamiss@nsAon G so0L
() CuilaiisEsédlanGu seutiy (i) rensEss@ Gt sty
Crosses hetween the plants of the same variety are called ___;__--
{a) intravarietal (b) interspecific
[d) intervarietal

(¢) intergeneric

9fley - 2 / SECTION - 2

&Iy @ Epserayd dlamssala aGsb HreE A MESEHES aflenLwafl&sa|b. )
4x2=8

Note : Answer any four of the following questions. :

9. QoG sl asﬁm;neﬁ GTEOIET ?

What is Mellitaphily ?

10. AysefCurerp Asrrafasudan (pean wHMHLL 2 ETeTTs @ewhs LTaGUT
‘@Lerevit Aeranlieus gy és ahs Gprdsman LuerLBigemd ?
What are the enzymes you can use to cut terminal end and internal phosphodiester

bond of nucleotide sequence ?

11. WFbGsTw G erempmed eremer ?

What is myrmecophily ?

Sipsaan oflel FR G Qaran® qm Grlll aarig <ig ThHF udSEmWE
ENiGHE e T(pEIS.

s Of amugallen cramansma HarhEsiulBererg - UMb - 50, Freurmser - 1000,
pwed npmd el - 250 +250, LML ommith gaemrren 100 +50.

Draw a pyramid from following details and name the type of pyramid.

Quantities of organisms are given Hawks-50, Plants-1000, Rabbit and Mouse
250 +250. Pythons and Lizard 100+50 respectively. '
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13. W& aed@s Gobufdsedld mamenuiil o U Gaaadaer erseimy uamiGdlenman ?

How are microbinl inoculants used to inercase the sail fertility ?

o T - (T ’ . ‘
14, @upms GalaTranaminuile aImrUmDenls &ms.

Give definitions for organic farming.

Wifley - 3 / SECTION - 3

@PlLy : Epssranib dlamssaia aCsaub apermy dlaimésenss el wealsseb.

eflanr areRt 19-8g SLLmwors cilen el bsa. 3x3=9

Note :  Answer any three of the following questions Q.No. 19 is compulsory.

15. L8 gdlar vaflgenarss Ll gwell(s.

List out the functions of tapetum.

16. saupsarsl Qureau@e whgb urEEarissrs sHEorHpsSne
Be_Cwwrer Ceumur® ersmem ?

What is the difference between missense and nonsense mutation ?

17. pBR 322 ergub euriigensudailmhg Balir Siflbg Clamdreug) erarar ?

What do you know about the word pER 322 ?

18. amiuer sarliuBsh wonh Geaflége (CCS) erammmey eremar 7

What is CCS ?

19. yefl amfib whnb Qeud anfd - GanuBsss.

Distinguish habitat and niche.

]E‘ | #imiys / Turn over
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Uity - 4 / SECTION - 4
i ) 2x5=1p
GOluy : OGS Ml Edemamin oo il

Note :  Answer all the questions,

s o) g b unil @y
20. | ==y ) &j\mmm sall L.III‘:‘.'!]l_"] diflaiman (cldT;ll.'\.'bL.';l_| ‘rr_[,w}e}‘._ D) T ry;&c&luggﬂmm OOl GL

e nss,
S0
. e, i F . . T T el enLD L (g@_lﬂl_l@l'&l@&s
<) e Qupr griugssamn winb Gmar QrIGSS@E
its significance.
{a] Give a detailed account on parthenocarpy, add a note on its signific

OR

(b) Differentiate incomplete dominance and co-dominance.

21. (=) sreuggdla asnmbar UweTUrBaeer eT(psIs.
JEYENTVES
(<2) Emiesr’s QuirmLgetlcr siraer, 278l wrenew ? samdlen Lwersaear (PSS

{(a) Writc the applications of plant tissue culture,

OR

(b) What are the King and Queen of spices ? Write their uses.
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UGS - 10 (2 u0fl-eflevrufluied) / PART - 11 (BIO-ZOOLOGY)
(wiliQuettraen ¢ 35) / (Marks : 35)
ffley - 1 / SECTION - 1
@floy = () ADEF| aflandmeniEn eNanwaldsab. 8x1=8

(ii) Q&.nf_}}‘;é&&lfn_qlﬁ.@uﬁm wrHn il sefld Blaab ghymiy datamus
CobAsRéns @il GLar slo llaayn Goige srapsey.
Note: (i) Answer all the questions.

(if) Choose the mast appropriate answer from the given four alternatives
and write the option code and the corresponding answer,

L. &5 RNA wassmp erogpanuls o maurssiubdps ?

(=) pe@r&sD (<) @rigliumse
(@) Qurfl Quwidged () uyLuEssD
A mRﬂA molecule is produced by : '
{a) Duplication (b) Replication
{c) Translation (d) Transcription

2. asiCarmebGunfian -A erap ComiussBUUTDDD @BEE LB oddmha
o fuss Qeouiiu@dampg ?

(=) Quedlflaliun AprGd b (=) sievuirgerevan enpi
(@) yeorGarbmwor urrmS!a'u(Surr;r.Li} {FF) wemenae) Lf sy
Cyclosporin-A is an immunosuppressive drug produced from :

(a] Penicillium notatum (b} Aspergillus niger

[¢) Trichoderma polysporum (d) Manascus purpureus

3. apsd srwb Sesalldr st dar epssuu@dpg ?

(at) g Ceuraflwein (<21,) QuFBwen

(@) = GLrell&uen (/) geyurdld
' Which period was called as “Age of fishes” ?

(a) Devonian (b) Permian

(¢} Ordovician (d) Triassic

[ Simliys / Turn over
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i Memm wina B iy Gy AT N OIS armLIeudl :
L) '-'3‘”"'(i“_n“ﬂ'l.-:| RICITLARY (vo1) o fhflent 1NENIDE
(S aar RIRR RIIRTISN () dler IDﬂfh[Ulb
Competition betweer species Teads ta ¢

[l Amensaliam ih Extinclion

() Symbiosis (d) Mutalion

2k b Elenaudls,
umfil E*H. et iladaBawwrer LS EHEG 2 grenrél Sflupo B

e el BN APESITN T8y 7P

= ;\;ﬂ\_'h\'t!-'!"ti\.ﬁ‘?_lg;_‘-:}'[ {<np) LT g &aT

(@) o Gardlmdr () UpeaISeT

Which ene of the following are at high risk extinction due to habitat destruction ?
tal  Amphibians (b Mammals

(c]  Echinoderms (d). Birds

ST

; Thg UnaGerin shgsd uHGnriseiar wry suemswrar [4 10 x4 B
erEs oL Cu Upéas sraduibda ?

27 A (=4) AB (@) B () O
Which of the following phenotypes is not poasablc in the progeny of the parental
genotypic combination [* [OxJA[B 2
(a} A (b) AB -(e) B (d) O

uralnCren shédldl sflener GauliuBlea wrmyurl Lo 3 saflssal flowseio
Carrderms. oser aflens

(1) Blenamruy Glonpusuubigisen, enugs, Ewen ARy

(=) Gudy Afly, Geariy Qapusiufss s, B HUGH

(@) Guon My, 2 puss, @enamiy BanpusiuBbssd

(m) e pugdl. Gansiy Bapusiubiasd, @uoy Sy

PCR praceeds in three distinct steps governed by temperature, they e iy opder
of :

(a) Annealing, Synthesis, Denaturation

(b) Denaturation, Anncaling, Synthesis

fc}) Denaturation, Synthesis, Annealing

(d) Synthesis, Annealing, Denaluration



8.

- (a) Epididymis (b)

9
WATES sllibg Qsdracr GrafssiEnd GLib :
(<=1) elBgs Gua S(HET @pa)
(&) fbgitien

(=) oNESE FIHT @ pRsd
(m) elibg mremd

The matured sperms are stored in the

Seminiferous tubules

{c) Seminal vesicle (d) Vas deferens

L9fley - 2 / SECTION - 2

@lly : gCsgb E,ﬁeh@ fenris@nés w G edarwelEsayb.

Note :  Answer any four of the following guestions.

9.

10.

11.

12,

ganafl GenIQUmEaD crenprd eTanar ? TREHGETH HMHs.

What is parthenogenesis ? Give example.

Gﬁiﬂl_ﬂ'iﬂig :!_},ITIL.ISH!!D GraMITel eTelen ?

What is surrogacy ?

GO ® Qapuilellimbe eurmim @amémtu Gaumupsss.

Differentiate template strand from coding strand.

5927

4x2=8

amorisdar Quplule uarys Cam_urlwamer saubna AapEggeur wri ?

ereucurmy Hlem s mi ?

Who disproved Lamarck’s theory of acquired characters P How ?

[ dmiys / Turn over
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13, e d&mma Gt
EOAESTA et gl maner ST

Write the symptoms of filarinsis,

14, woruey Sldlaca admnd o 7

What does gene therapy mean ?

Yflay - 3 / SECTION - 3 .
i wWslEssD.

GOy ¢ Epdsranty elanisad gCsamub apagy elamssEiG ali
3x3=9

QI e 19-8@ SIS e wiallésayb.

Note :  Answer any three of the following questions. Q.No. 19 is IcnmP“ls"ry'

15. smsdarea whnd fAssbsron Caunubéss.

Differenriate foeticide from infanticide.

16. swgeLariy Grmi caarug fas LrhplulL gL sTULY gl EOTED -
Burutu@Rags.

Autoimmune disease is a misdirected immunity response. Justify.

17. el edrnunmar erdiliygSnen sruQuingg e GauTélng ?

When does antibiotic resistance develop ?

18. Gouy dizgens Gniy eissHdepg Capubigs.

Differentiate Natality from Mortality.

XY &CmGonGanh eusms L Arenigald e 2 WGflsdr qp X @CmGLmanaioyb
Quar 2 9fsd @ranh X GGy GorGambsamarn i Qe (Raramen, unalleng A
Gen Guwiren Glbs e@matl () CamuriaL o u9fland aliug @ @&u’.Jeﬂg@ ?

19.

In the XY chromosomal system of sex determination, males have only one X’
chromosome, whereas females have two. How does the organism compensate for

this dosage differences between the sexes ?
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Ulfle) - 4 / SECTION - 4
GOy : Geteumnd Gﬁkmrré;a-,@d;@ eflenL_weflGmayLb. i

Note :  Answer the following questions.

20. (=) walls e Qedaflar wemwiiaul uLggILen efleuflbaeyi.
: EALARVES]
(<) wafls wrugy A shar AnoGudyse i 9
(a) Explain the structure of Human Ovum with a neat labelled diagram.

OR

(b)  Write the salient features of Human Genome Project.

21. (1) @ow,GenrgGarmeien wienolienL HEHS 'ux..';i,gu_eh lendEs.
. EAEAAY:S
(=) sfwsss siPla; Guoararew Ghss sy amrs.
(a) Explain the structure of immunoglobulin with suitable diagram.

OR

(b) Write an essay on radioactive waste management,

-o00o-



